
赤阪正純 (http://inupri.web.fc2.com) 玉を箱に分配する方法 (まとめ)
　
　

区
別
の
あ
る
3
つ
の
箱
A
，
B
，
C
に
分
け
る

区
別
の
つ
か
な
い
3
つ
の
箱
に
分
け
る

区
別
の
あ
る
6
個
の
玉
を
3
つ
の
箱
に
分
け
る

空
箱
O
K

空
箱
N
G

A
B

C

a
b

c
d

e
f

6
個
の
玉
そ
れ
ぞ
れ
に
3
通
り
の
箱
へ
の
入
れ
方
が
あ
る
の
で

3
6
=
7
2
9
通
り

上
で
求
め
た
3
6
=
7
2
9
通
り
か
ら
，
空
箱
の
場
合
を
除
け
ば
よ
い
．

左
で
求
め
た
場
合
の
数
を
3
!
で
割
れ
ば
よ
い
．

※
下
の
場
合
を
真
似
て
，
単
純
に
左
の
場
合
の
数
を
3
!
で
割
っ
て
は
ダ
メ
．

1
箱
だ
け
に
入
る
場
合
　
　
箱
に
区
別
が
あ
る
の
で
，
3
通
り
．

2
箱
だ
け
に
入
る
場
合
　
　
ま
ず
，
入
る
2
箱
の
選
び
方
が
3
C
2
=
3
通
り

3
6
¡
3
¡
3
(2
6
¡
2
)
通
り

A
B
C

あ
る
分
け
方
に
対
し
て
，
そ
れ
ぞ
れ
3
!
通
り
の
部
屋
の
当
て
方
が
あ
る
か
ら
，

A
C
B

B B C C

A
C

C
A

A
B

B
A

3
!
通
り

3
6
¡
3
¡
3
(2
6
¡
2
)

3
!

通
り

1
箱
だ
け
に
入
る
場
合
　
　
箱
の
区
別
が
な
い
の
で
，
1
通
り
．

2
箱
だ
け
に
入
る
場
合
　
　
ま
ず
2
箱
を
区
別
し
て
考
え
る
．

3
箱
全
て
に
入
る
場
合
　
　
下
の
場
合
そ
の
も
の
で
あ
る
．

1
+
2
6
¡
2

2
!
+
3
6
¡
3
¡
3
(2
6
¡
2
)

3
!

通
り

2
箱
へ
の
入
れ
方
は
2
6
通
り
あ
る
が
，

片
方
だ
け
に
入
る
場
合
(2
通
り
)
を
除
く
．

よ
っ
て
，
3
(2
6
¡
2
)
通
り
．

2
箱
へ
の
入
れ
方
は
2
6
¡
2
通
り
で
あ
り
，

さ
ら
に
箱
の
区
別
を
な
く
す
と
2
6
¡
2

2
!

通
り
．

い
っ
た
ん
箱
を
区
別
し
て
考
え
て
考
え
る
と
，
左
の
よ
う
に
な
る
．



赤阪正純 (http://inupri.web.fc2.com) 玉を箱に分配する方法 (まとめ)
　
　

区
別
の
あ
る
3
つ
の
箱
A
，
B
，
C
に
分
け
る

区
別
の
つ
か
な
い
3
つ
の
箱
に
分
け
る

区
別
の
つ
か
な
い
6
個
の
玉
を
3
つ
の
箱
に
分
け
る

空
箱
O
K

空
箱
N
G

8
C
2
=
2
8
通
り

5
C
2
=
1
0
通
り

箱
A
，
B
，
C
に
入
る
玉
の
個
数
を
x
，
y
，
z
と
す
る
と
，

x
+
y
+
z
=
6
，
x
≧
0
，
y
≧
0
，
z
≧
0

玉
の
区
別
が
な
い
の
で
，
箱
に
入
る
玉
の
個
数
だ
け
を
考
え
れ
ば
よ
い
．

を
満
た
す
(x
，
y
，
z)
の
組
を
数
え
れ
ば
よ
い
．
つ
ま
り
、

6
個
の
°
，
2
本
の
j
の
順
列
の
総
数
に
対
応
す
る
．

x
=
2
，
y
=
3
，
z
=
1

x
=
4
，
y
=
0
，
z
=
2

x
+
y
+
z
=
6
，
x
≧
1
，
y
≧
1
，
z
≧
1

を
満
た
す
(x
，
y
，
z)
の
組
を
数
え
れ
ば
よ
い
．
つ
ま
り
，

6
個
の
°
の
間
隔
5
か
所
に
，
2
本
の
j
を
入
れ
る
場
合
の
数
を
考
え
る
．

3
つ
の
箱
に
入
る
玉
の
個
数
を
x
，
y
，
z
と
す
る
と
，

箱
に
区
別
が
な
い
の
で
，
0
≦
x
≦
y
≦
z
と
し
て
良
い
．

x
+
y
+
z
=
6
，
0
≦
x
≦
y
≦
z

を
満
た
す
(x
，
y
，
z)
の
組
を
求
め
れ
ば
よ
い
．

1
箱
だ
け
に
入
る
場
合
，
(0
,
0
,
6
)

2
箱
だ
け
に
入
る
場
合
，
(0
,
1
,
5
)，
(0
,
2
,
4
)，
(0
,
3
,
3
)

3
箱
全
て
に
入
る
場
合
，
(1
,
1
,
4
)，
(1
,
2
,
3
)，
(2
,
2
,
2
)

7
通
り

上
記
の
「
3
箱
全
て
に
入
る
場
合
」
に
相
当
す
る
の
で
，
3
通
り

重
要
な
補
足
　
上
の
7
通
り
を
次
の
よ
う
に
分
類
し
て
み
よ
う
．

(i
i)
x
=
y
<
z，
x
<
y
=
z
型
　
3
通
り

(i
ii
)
x
<
y
<
z
型
　
3
通
り

(i
)
x
=
y
=
z
型
　
1
通
り

例

上
の
場
合
と
同
様
に
考
え
る
と
，

対
応
関
係
を
意
識
す
る
こ
と
！
(以
下
の
補
足
参
照
)

こ
こ
で
，
箱
に
区
別
を
つ
け
る
と
，
そ
れ
ぞ
れ
ど
う
対
応
す
る
の
か
？

そ
の
た
め
に
は
，
そ
れ
ぞ
れ
の
順
列
の
個
数
を
考
え
れ
ば
よ
い
．

順
列
は
，
(i
)
型
は
各
1
通
り
，
(i
i)
型
は
各
3
通
り
，
(i
ii
)
型
は
各
6
通
り

よ
っ
て
，
確
か
に
1
£
1
+
3
£
3
+
3
£
6
=
2
8
通
り
と
な
る

「
3
箱
全
て
に
入
る
場
合
」
は
(i
)(
ii
)(
ii
i)
型
が
各
1
通
り
づ
つ
な
の
で
，

確
か
に
1
+
3
+
6
=
1
0
通
り
と
な
り
，
き
ち
ん
と
対
応
し
て
い
る
！

こ
の
よ
う
に
，
箱
の
区
別
の
有
無
の
対
応
関
係
を
し
っ
か
り
と
理
解
し
よ
う
．


